Troffer Solutions

BRACKETS ARE THE KEY TO IDEAL
PHOTOMETRICS. THEY INSURE PROPER

KIT TO PROVIDE MAXIMUM EFFICIENCY.

PLACEMENT OF THE LAMP TO THE RETROFIT

2000 SERIES

Two, three or four lamp configuration
Screws to top or side of fixtures

Tek screw slots for easy centering

Locking lampholder notches

Rear notched for clearance on ribbed troffers
Rounded edges for installer safety

Clip in / remove reflector without tools

Ordering Information Sample number: 2002-TL7-BRACKET KIT
Bracket Type Lampholder Hardware

BRACKET KIT

T Yy Bracket=Bracket only (only used

i gggg:g L?g? Eractef BLANK=No |ampho|df3rs when not ordering lampholders)
! = L?g t bracket TL7=Short shunted twist-lock T8 lampholder Bracket kit=Includes #8 tek screws

v 2004 =4 Light bracket TL6=Short shunted snap-in T8 lampholder >

cost

a-mized @

1000T SERIES
B - . .
~— One or two lamp conﬁgurajnon
4 B Used for ballast clearance in 1" x 4" troffers
< B Locking lampholder notches
B Reflector easily attached with quarter turn fastener

Ordering Information Sample number: 1001T-1.75-TL7-BRACKET KIT
Bracket Type Bracket Height Lampholder Hardware

o

Bracket=Bracket only (only used

when not ordering lampholders)

1
10021':2 Light bracket 1.50=1.50" Bracket height BLANK=No lampholders Bracket kit=Includes #8iek screws

003T=3 Light bracket | 1.75=1.75 e el TL7=Short shunted twist-lock T8 lampholder -

I 700171 Light bracket | 1.25=1.25" Bracket height *
1
i
v bl S oy TL8=Short unshunted twist-lock T8 lampholder

Purchase from www.goodmart.com or 877-402-6100

2]



charlene
Purchase from www.goodmart.com or 877-402-6100


- l_f‘er 2
closed
4.0”
¥
=M
- &
open
H¥25i
cost
a-mized ~
‘_‘.x N L
\ ~
==
~ -
\\..

costicING

Strip Fixture Solutions

1000 SERIES “CLIP STRIP”

without tools

Reversible for one, two or three lamp configuration
Adjusts to any channel size between 4.0” to 5.25”
Tek screw slots for easy 48" lamp centering
Locking lampholder notches

Rounded edges for installer safety

Clip in / remove reflectors or ballast covers

Ordering Information Sample number: 1000-2-CS-TL7-BRACKET KIT

Bracket Type

*1 000 Senes bracket

Ordering Information Sample number: 1001Z-1.75x4.25-TL7-BRACKET KIT

Bracket Type

1o0rs B 1.7cet2s L 1, TN o

f Bracket= Bracket only (only used
! when not ordering lampholders)

100]Z 1 Light bracket Bracket kit=Includes #8 tek screws
ight bracke

v10022 2 Light bracket
1003Z=3 Light bracket

# of Lamps

BLANK= No Iompho\ders
1=1 Lamp

2=2 Lamps

3=3 Lamps (only with snap in
lampholders)

Bracket Size

OO0 —c=m

Bracket= Bracket only (only used
i when not ordering lampholders)

| Ad|usmb|e 4. 0 -5.25" Bracket kit=Includes #8 tek screws

Lampholder

]

1 BLANK=No lampholders

: TL7=Short shunted twist-lock T8 lampholder
TL3=Tall shunted twist-lock T8 lampholder
TLé6=Short shunted snap-in T8 lampholder

1000 SERIES Z-Brackets
H Appropriate when existing fixture or environment
prevents tek screwing bracket to sides of fixture
B Vapor tight enclosure retrofits and cove lighting
m One, two or three light available
B Locking lampholder notches

Bracket Dimensions

1.50x4.25=1.50" H x 4.25" W
1.75x4.25=1.75" H x 4.25" W
1.50x5.00=1.50" H x 5.00" W
1.75x5.00=1.75" H x 5.00" W
BLANK=Unknown

L

Lampholder

r.--J

1 BLANK=No lampholders

1 TL7=Short shunted twist-lock T8 Iompholder
TL3=Tall shunted twist-lock T8 lampholder
TL6=Short shunted snap-in T8 lampholder

1000 SERIES STANDARD

Reversible for one or two lamp configuration

Bent to 4.25”, 5.00” or any channel size specified
Locking lampholder notches

Available for slimline lampholders

Ordering Information Sample number: 1000-2-4.3-TL7-BRACKET KIT

Bracket Type

# of Lamps

3=3 Lamps (only with snap-in
lampholders)

Bracket Size

OO0 B8 —

Lampholder

--B-LXI\TK--I\TO lampholders 4.3=4.25" Width p——ud
1=1 L 5.0=5.00" Width
) ngzs PG ! ' BLANK=No lampholders =~ semecececme————

' TL7 =Short shunted twist-lock T8 lampholder
TL3=Tall shunted twist-lock T8 lampholder
TL6=Short shunted snap-in T8 lampholder

BRACKET KIT

i Bracket= Bracket only (only used
when not ordering lampholders)
Bracket kit=Includes #8 tek screws

Hardware

Hardware

Hardware

| 39]

Purchase from www.goodmart.com or 877-402-6100


charlene
Purchase from www.goodmart.com or 877-402-6100




